

Journal of Economics, Management and Trade

28(3): 22-29, 2022; Article no.JEMT.85341

ISSN: 2456-9216

(Past name: British Journal of Economics, Management & Trade, Past ISSN: 2278-098X)

Determination of Alternative Strategies for the Development of Tanjung Kelayang Area as a Sustainable Tourist Area, Indonesia

Lisa Ratnasari a*

^a Industrial Engineering Sahid University, Indonesia.

Author's contribution

The sole author designed, analysed, interpreted and prepared the manuscript.

Article Information

DOI: 10.9734/JEMT/2022/v28i330398

Open Peer Review History:

This journal follows the Advanced Open Peer Review policy. Identity of the Reviewers, Editor(s) and additional Reviewers, peer review comments, different versions of the manuscript, comments of the editors, etc are available here:

https://www.sdiarticle5.com/review-history/85341

Original Research Article

Received 30 January 2022 Accepted 04 April 2022 Published 20 April 2022

ABSTRACT

Tanjung Kelayang tourist area has beautiful natural potential to be developed as a famous tourist destination and become a superior destination in Belitung. Since the outbreak of the covid-19 pandemic has had an impact on the decrease in the number of tourists visiting. To revive the tourism sector in Tanjung Kelayang, research is needed to encourage sustainable tourism development, taking into account economic, ecological and social aspects. This research aims to determine the priority of sustainable and adaptive tourist destination development strategies to disasters in Belitung Regency. The method used to establish priority strategies using the *Quantitative Strategic Planning Matrix* (QSPM) method is also supported by the Matrix IE method and SWOT Analysis. The data used in the study was obtained from library search results, questionnaires, interviews, observations and FGD involving stakeholders. Based on the IE matrix, the position of tanjung kelayang tourist destinations in cell IV is to grow and build (grow*and build*) with a total value of IFE 3,131 and and and a total value of EFE 2,496Tiga strategy that is the priority with the highest value is designing a strong tanjung kelayang icon / branding (7,635), refocusing tanjung kelayang marketing strategy (7,420), optimization of tourism supporting infrastructure in the internal tourist area and towards the tourist area (7,290).

Keywords: Tanjung Kelayang; tourism; strategy; SWOT; QSPM.

*Corresponding author: E-mail: lisa_ratnasari@usahid.ac.id;

1. INTRODUCTION

Tourism is one of the strategic development sectors for the improvement of a country's economy, tourism has experienced increased development and expanded diversification, and it is becoming one of the fastest developing financial sectors around the world [1]. Good management of the tourism industry can increase state revenues beyond oil and gas. Tourism is one of the strategic development sectors such as energy, food, infrastructure [2]. The tourism industry is a growing service industry such as hotel services, transportation services, entertainment services, tour services and so on. Tourism one of the largest industries supporting regional economic growth and development [3]. The tourism industry is a dynamic activity that involves many parties and brings to life various business fields. Tourism is a constantly growing and economically important sector on a global and local level [4].

Indonesia is a country that has great tourism potential supported by geographical conditions and cultural heritage. In Indonesia, tourism is one of the important sectors in the sustainability of Indonesia's economy [5]. Tourism in Indonesia has a potential for its nature, culture, and other tourism activities. Natural resources become a big backbone for economic growth and emerging Micro, Small and Medium Enterprises (SMEs) in Indonesia [6]. In nature tourism in Indonesia is very varied with the existence of beaches, mountains. forests. lakes. beautiful interesting rivers. Coastal areas have strategic value that plays an important role in improving the economy and welfare of local communities [7]. An area that has beautiful nature will manage as a tourist destination for the area's source of income. Clearly the impact of sustainable tourism on economic growth that helps people's wellbeing [4]. In managing tourist destinations the government must invite all interested parties to participate. The success of the development of tourism destinations is determined by good planning and administration, and involves all stakeholders [8].

Tourism has been one of the most affected sectors of the coronavirus pandemic since it began in March 2020. The decrease inthe number of tourists makes the product of cultural results and consumption levels in tourist areas decrease. One of those affected is Belitung. Even so, Belitung actually wants to take advantage of this pandemic moment to revive

their tourism sector. One of the tourist destinations in Belitung is Taniung Kelayang Beach. Tanjung Kelayang Beach is one of the beaches located in Bangka Belitung Islands. Its location is located in Sijuk District and is about 27 kilometers from Tanjung Pandan which is the capital of Belitung Regency. Tanjung Kelayang Beach is designated as one of the priorities of destination development designated as a Special Economic Area through Government Regulation No. 6 of 2016. With a total area of 324.4 Ha, Tanjung Kelayang economic area has the concept of sustainable environmentally minded and tourism development. In the context of encouraging sustainable tourism development, there needs to be strategic efforts in the development of existing tourism potential taking into account economic, ecological and social aspects and adaptive to efforts to minimize the impact of potential disasters. Departing from this thinking, it is necessary to study the strategy of developing sustainable and adaptive tourist destinations to disasters in Belitung Regency.

2. METHODS

The method is to analyze the internal environment (strengths and weaknesses) and external environment (opportunities and threats) of tanjung kelayang tourist destinations that are the basis for doing SWOT analysis. This method can be used to identify favorable and unfavorable factors and conditions, solve current problems in a targeted manner, recognize the challenges and obstacles faced, and formulate strategic plans to guide scientific decisions [9]. The SWOT method is perfect for exploring the internal and external factors of a business to design a development strategy [10].

The SWOT analysis is conducted through the IFE (Internal Factor Evaluation) matrixwhich will outline the company's biggest strength and weakness factors and the EFE matrix (External Factor Evaluation) which will outline the opportunities and threat factors that the destination has and the IE matrix that shows where the company is currently positioned. In order to ensure the sustainable development of tourism destination, it is necessary to analyze its planning in many aspects using the superiority, weakness, opportunity and threats analysis method [11].

The QSPM method is a tool for evaluating alternative strategy options objectively based on

previously identified internal and external *key success factors*. QSPM can be used to comprehensively analyze various factors in sustainable tourism business development [12]. To determinant development strategies, strengths, weaknesses, opportunities, threats (SWOT) and based on results a quantitative strategic planning matrix (QSPM) approach were used to manage the proper sustainability of ecotourism [13]. Alternative strategies formed in SWOT will be assessed using a winasity score. There are six steps to take to create a QSPM matrix:

- Compile a list of strengths, weaknesses, opportunities and threats in the capination of Tanjung Kelayang tourism in accordance with the SWOT matrix.
- It gives weight to each of your strengths, weaknesses, opportunities and threats.
 This weight is equal to the weight given to the IFE and EFE matrices.
- Develop alternative strategies that will be evaluated.
- 4. Set an Attractiveness Score (US) on a scale between 1 to 4. The U.S. is a value of attraction determined by observing every major external and internal factor that influences it. If these factors have no effect on the alternative strategies under consideration, they are not given U.S. value. The U.S. value scale is as follows: a. Value 1 = has no attraction b. Value 2 = low attraction c. Value 3 = the attraction is d. Value 4 = high attractiveness
- Calculate the Total Attractiveness Score (TAS). In this step, the weight is multiplied by the U.S. of each external and internal factors on each strategy. The bigger the TAS, the more attractive the suggested strategy.
- Calculate the total number of TAS. In this step, the TAS in each strategy column is summed. Alternative strategies that have

the greatest total value are the best strategies.

3. RESULTS AND DISCUSSIONS

Alternative strategies formulated to accept strengths, overcome weaknesses, take advantage of opportunities and deal with threats are formulated in detail in the S-O, S-T, W-O and W-T states. The alternatives that are compiled have adopted a grand strategy of grow and built based on the position of Tanjung Kelayang as a tourist area. Here are the alternative strategies devised:

SO Strategy institutional strengthening management that optimizes community participation, optimization of tanjung kelayang promotion in a digital rich story telling. Strategy ST refocusing Tanjung Kelayang's marketing strategy, designing a travel pattern that is adaptive to Covid. WO strategy diversification of tourist products that respond to various market segments, optimization of tourism support infrastructure in the internal tourist area and towards the tourist area. WT Strategy designing a strong Tanjung Kelayang icon/branding, strengthening human resources to support tourism development.

3.1 QSPM Analysis

QSPM is an analytical tool to decide the strategies used based on alternative strategies. Respondents will give the U.S. an alternative so that TAS is obtained. Alternative strategies with the highest TAS become a priority to be applied, while alternative strategies with the lowest TAS become the alternative strategy of the last resort. The results of weighting and assessment of the score of internal and external strategic factors as an alternative to the best strategic decisions that must be implemented immediately in the QSPM analysis are as follows:

Table 1. Attractive score

Strategic Factors	Weight	Strat	tegy 1	Strategy 2		Strategy 3		Strategy 4	
		AS	TAS	AS	TAS	AS	TAS	AS	TAS
Strength									
1	0.052	2.600	0.135	3.000	0.155	3.600	0.187	3.400	0.176
2	0.055	3.600	0.198	4.000	0.220	4.000	0.220	3.600	0.198
3	0.061	3.000	0.183	3.400	0.207	3.800	0.232	3.600	0.220
4	0.058	3.200	0.185	3.400	0.197	3.800	0.220	3.400	0.197
5	0.058	3.600	0.209	3.600	0.209	3.800	0.220	3.600	0.209
6	0.061	3.800	0.232	3.400	0.207	3.600	0.220	3.400	0.207
7	0.055	3.800	0.209	3.400	0.187	3.800	0.209	3.400	0.187

Strategic Factors	Weight	Strategy 1		Strategy 2		Strategy 3		Strategy 4	
		AS	TAS	AS	TAS	AS	TAS	AS	TAS
8	0.052	3.600	0.187	3.600	0.187	3.800	0.197	3.400	0.176
9	0.058	3.600	0.209	3.400	0.197	3.800	0.220	3.400	0.197
10	0.046	2.600	0.119	3.000	0.137	3.000	0.137	3.400	0.155
11	0.049	2.600	0.127	3.000	0.146	3.400	0.166	3.200	0.156
12	0.058	3.800	0.220	3.800	0.220	4.000	0.232	3.400	0.197
13	0.055	2.800	0.154	3.600	0.198	3.800	0.209	3.800	0.209
14	0.049	3.200	0.156	3.600	0.176	4.000	0.195	3.800	0.185
Sum			2.520		2.642		2.862		2.668
Weakness									
1	0.021	3.000	0.064	2.800	0.060	3.600	0.077	3.400	0.073
2	0.027	3.000	0.082	2.800	0.077	3.400	0.093	3.000	0.082
3	0.027	3.800	0.104	2.200	0.060	3.400	0.093	3.000	0.082
4	0.021	3.200	0.068	3.000	0.064	3.400	0.073	3.400	0.073
5	0.021	3.400	0.073	2.400	0.051	3.200	0.068	3.000	0.064
6	0.018	3.200	0.059	2.800	0.051	3.400	0.062	3.800	0.070
7	0.024	3.400	0.083	3.400	0.083	3.800	0.093	3.600	0.088
8	0.021	3.200	0.068	3.800	0.081	3.600	0.077	3.400	0.073
9	0.024	3.200	0.078	3.200	0.078	3.200	0.078	3.600	0.088
10	0.027	3.200	0.088	3.600	0.099	3.800	0.104	3.600	0.099
Sum			0.767		0.704		0.818		0.790
Opportunities									
1	0.132	3.800	0.502	3.800	0.502	4.000	0.529	3.800	0.502
2	0.132	3.200	0.423	3.600	0.476	3.600	0.476	3.200	0.423
3	0.140	3.400	0.478	3.600	0.506	3.600	0.506	3.800	0.534
4	0.165	3.800	0.628	3.800	0.628	4.000	0.661	3.800	0.628
5	0.165	3.800	0.628	4.000	0.661	4.000	0.661	3.800	0.628
Sum			2.660		2.774		2.833		2.716
1	0.066	2.600	0.172	3.000	0.198	3.400	0.225	3.400	0.225
2	0.074	2.400	0.179	3.000	0.223	3.200	0.238	3.800	0.283
3	0.058	3.600	0.208	3.200	0.185	3.800	0.220	4.000	0.231
4	0.066	3.200	0.212	3.200	0.212	3.400	0.225	3.400	0.225
Jumlah			0.770		0.818		0.907		0.964
Total			6.717		6.938		7.420		7.138

Strategic Factors	Weight	Alternative Strategies								
•	_	Strategy 5		Strategy 6		Strategy 7		Strategy 8		
		AS	TAS	AS	TAS	AS	TAS	AS	TAS	
Strength										
1	0.052	3.400	0.176	3.800	0.197	3.800	0.197	2.800	0.145	
2	0.055	3.800	0.209	3.600	0.198	4.000	0.220	3.600	0.198	
3	0.061	3.400	0.207	3.600	0.220	3.800	0.232	3.600	0.220	
4	0.058	3.600	0.209	3.600	0.209	3.800	0.220	3.600	0.209	
5	0.058	3.400	0.197	3.600	0.209	3.800	0.220	3.600	0.209	
6	0.061	3.600	0.220	3.800	0.232	3.800	0.232	3.800	0.232	
7	0.055	3.400	0.187	3.600	0.198	3.800	0.209	3.800	0.209	
8	0.052	4.000	0.207	3.600	0.187	4.000	0.207	3.800	0.197	
9	0.058	3.400	0.197	3.600	0.209	3.800	0.220	3.800	0.220	
10	0.046	3.200	0.146	3.000	0.137	3.600	0.165	3.400	0.155	
11	0.049	3.800	0.185	3.400	0.166	4.000	0.195	3.600	0.176	
12	0.058	3.800	0.220	3.600	0.209	4.000	0.232	3.600	0.209	
13	0.055	3.800	0.209	3.600	0.198	4.000	0.220	3.000	0.165	
14	0.049	4.000	0.195	3.600	0.176	4.000	0.195	3.600	0.176	
Sum			2.763		2.740		2.962		2.716	

Strategic Factors	Weight	Alternative Strategies								
•	•	Strategy 5		Strate	ју 6	Strategy 7		Strategy 8		
		AS	TAS	AS	TAS	AS	TAS	AS	TAS	
Weakness										
1	0.021	3.000	0.064	3.600	0.077	3.600	0.077	3.000	0.064	
2	0.027	3.400	0.093	3.400	0.093	3.800	0.104	3.000	0.082	
2 3	0.027	2.600	0.071	3.000	0.082	3.200	0.088	4.000	0.110	
4	0.021	3.600	0.077	3.200	0.068	3.800	0.081	3.400	0.073	
5	0.021	3.200	0.068	4.000	0.085	4.000	0.085	3.600	0.077	
6	0.018	3.400	0.062	3.600	0.066	3.800	0.070	3.400	0.062	
7	0.024	3.800	0.093	3.400	0.083	4.000	0.098	3.600	0.088	
8	0.021	3.200	0.068	3.200	0.068	3.800	0.081	3.600	0.077	
9	0.024	3.200	0.078	3.400	0.083	3.800	0.093	3.400	0.083	
10	0.027	3.400	0.093	3.400	0.093	4.000	0.110	3.600	0.099	
Sum			0.768		0.799		0.886		0.814	
Opportunities										
1	0.132	3.800	0.502	3.800	0.502	4.000	0.529	3.800	0.502	
2	0.132	3.200	0.423	3.800	0.502	3.600	0.476	3.400	0.450	
3	0.140	4.000	0.562	3.800	0.534	4.000	0.562	3.400	0.478	
4	0.165	4.000	0.661	3.800	0.628	3.600	0.595	3.800	0.628	
5	0.165	3.600	0.595	4.000	0.661	4.000	0.661	4.000	0.661	
Sum			2.744		2.828		2.823		2.719	
Threat										
1	0.066	4.000	0.264	3.800	0.251	3.800	0.251	2.800	0.185	
2	0.074	3.600	0.268	3.000	0.223	3.400	0.253	3.400	0.253	
3	0.058	3.800	0.220	3.400	0.197	3.600	0.208	3.400	0.197	
4	0.066	3.600	0.238	3.800	0.251	3.800	0.251	3.600	0.238	
Sum			0.990		0.922		0.964		0.873	
Total			7.266		7.290		7.635		7.122	

Table 2. Alternative strategies

No.	Alternative Strategies	Nilai TAS	Peringkat
1	Institutional strengthening of management that optimizes community participation	6.717	8
2	Optimization of tanjung kelayang promotion in a digital rich story telling	6,938	7
3	Refocusing Tanjung Kelayang's marketing strategy	7.420	2
4	Designing a travel pattern that is adaptive to Covid	7.138	5
5	Diversification of tourist products that respond to various market segments	7.266	4
6	Optimization of tourism support infrastructure in the internal tourist area and towards the tourist area	7.290	3
7	Designing a strong Tanjung Kelayang icon/branding	7.635	1
8	Strengthening human resources to support tourism development	7.122	6

The results of this study show that all internal and external factors must be considered in the taniung kelavang destination ٥f development strategy. Tanjung Kelayang as a new tourist destination, has challenges and obstacles in its development efforts towards sustainable tourist destinations. One of the strategies for sustainable destination development is to solve the obstacles [14]. In general, the challenges and obstacles faced, Taniung Kelayang is relatively the same as other tourist destinations in Indonesia. Development of ecological tourist destinations can reduce the potential of the mass tourism industry to degrade the quality of the environment [15]. Common obstacles faced by tourist destinations include institutional aspects. human resources. infrastructure and facilities and the problem of sposses. Changes in tourism values. interests and preferences make tourism likely to protect the natural environment and culture

When viewed from the three strategies that rank highest all in business aspects, namely branding design, marketing focus and infrastructure optimization around Tanjung Kelayang. The development of tourist destinations must involve the knowledge of all stakeholders to jointly overcome existing problems [17]. These results show that for Tanjung Kelayang development priorities are still focused on economic aspects, only then following the ecological and social aspects in the concept of sustainable development. Economic development is often the first step in the sustainable development of a service industry [18]. The design of sustainable tourist destination development strategies must make the priority stage until finally achieving the desired results. Business development must create a marketing control mechanism with performance achieved [19]. To achieve a leap in the marketing of tourist services can use tourism information media [20].

4. CONCLUSION

The most influential internal factors in terms of strength are a clean environment and overnment programs that focus on strengthening tourism for weaknesses namelv verv limited public transportation. The most influential external factors in terms ofhuggers. The shift of promotional methods from conventional to digital accelerate and expand so as to dissemination of information, Unesco's claim to

the Global Geopark while in terms of threats, namely apandemic covid.

Based on the IE matrix, the position of tanjung kelayang tourist destinations in cell IV is growing and building (growand build) with a total value of IFE 3,131 and and a total value of EFE 2,496. The three strategies that are the highest priority are designing a strong Tanjung Kelayang icon /branding, refocusing Tanjung Kelayang's marketing strategy, optimizing tourism supporting infrastructure in internal tourist areas and towards tourist areas.

COMPETING INTERESTS

Author has declared that no competing interests exist.

REFERENCES

- Abdou AH, Hassan TH, Dief MM El. A description of green hotel practices and their role in achieving sustainable development. Sustainability (Switzerland). 2020;12(22):1–21.
 - Available:https://doi.org/10.3390/su122296 24
- Hasibuan B, Ratnasari L, Gusdini N. Effectiveness of Pangandaran Beach Tourism Destination Publications, West Java, Indonesia. Journal of Economics, Management and Trade. 2019;23(4):1–8. Available:https://doi.org/10.9734/jemt/2019 /v23i430139
- Su Y, Cherian J, Sial MS, Badulescu A, Thu PA, Badulescu D, Samad S. Does tourism affect economic growth of china? A panel granger causality approach. Sustainability (Switzerland). 2021;13(3):1– 12.
 - Available:https://doi.org/10.3390/su130313 49
- León-Gómez A, Ruiz-Palomo D, Fernández-Gámez MA, García-Revilla MR. Sustainable tourism development and economic growth: Bibliometric review and analysis. Sustainability (Switzerland). 2021;13(4):1–20.
 - Available:https://doi.org/10.3390/su130422 70
- Sembiring R, Herlinda E, Afrita A, Ningsih S, Muda I. The role of Dalihan Na Tolu in enhancing the tourism appeal of Parbaba White Sand Beach in Samosir regency as Indonesia's national Geopark. Geojournal

- of Tourism and Geosites. 2019;26(3):701–713.
- Available:https://doi.org/10.30892/gtg.2630 2-390
- Sinaga P, Agusttinus DC, Nababan D, Sinaga APF, Sinaga WY. Natural resources of Simalungun Regency for the development of micro, small and medium enterprises. WSEAS Transactions on Business and Economics. 2021;18:543– 551
 - Available:https://doi.org/10.37394/23207.2 021.18.55
- 7. Rudiastuti AW, Munawaroh Setyawan IE, Pramono GH. Coastal management strategy for small island: Ecotourism potency development in Karimata Island, West Kalimantan. IOP Conference Series: Earth and Environmental Science. 2018; 148(1).
 - Available:https://doi.org/10.1088/1755-1315/148/1/012013
- 8. Perbawasari S, Sjuchro DW, Setianti Y, Nugraha AR, Muda I. Halal tourism communication formation model in west Java, Indonesia. Geojournal of Tourism and Geosites. 2019;25(2):309–320. Available:https://doi.org/10.30892/gtg.2520
- Wang J, Wang Z. Strengths, weaknesses, opportunities and threats (Swot) analysis of china's prevention and control strategy for the covid-19 epidemic. International Journal of Environmental Research and Public Health. 2020;17(7).
 Available:https://doi.org/10.3390/ijerph170 72235
- Irfan M, Hao Y, Panjwani MK, Khan D, Chandio AA, Li H. Competitive assessment of South Asia's wind power industry: SWOT analysis and value chain combined model. Energy Strategy Reviews. 2019,2020;32:100540.
 - Available:https://doi.org/10.1016/j.esr.2020 .100540
- Shang Y, Sun Y, Xu A. Rural ecotourism planning and design based on SWOT analysis. International Journal of Low-Carbon Technologies. 2020;15(3):368– 372.
 - Available:https://doi.org/10.1093/IJLCT/CT AA003
- Chandra P, Kumar J. Strategies for developing sustainable tourism business in the Indian Himalayan Region: Insights from Uttarakhand, the Northern Himalayan

- State of India. Journal of Destination Marketing and Management. 2020,2021;19.
- Available:https://doi.org/10.1016/j.jdmm.20 20.100546
- Mallick SK, Rudra S, Samanta R. Sustainable ecotourism development using SWOT and QSPM approach: A study on Rameswaram, Tamil Nadu. International Journal of Geoheritage and Parks. 2020; 8(3):185–193.
 - Available:https://doi.org/10.1016/j.ijgeop.2 020.06.001
- 14. Paunović I, Dressler M, Nikolić TM, Pantić SP. Developing a competitive and sustainable destination of the future: Clusters and predictors of successful national-level destination governance across destination life-cycle. Sustainability (Switzerland). 2020;12(10).
 - Available:https://doi.org/10.3390/SU12104 066
- Mastika IK, Nimran U. Destination branding model of an ecological tourism village in Bali, Indonesia. Geojournal of Tourism and Geosites. 2020;31(3):1068– 1074.
 - Available:https://doi.org/10.30892/gtg.3131 9-542
- Choi G, Kim J, Sawitri MY, Lee SK. Ecotourism market segmentation in Bali, Indonesia: Opportunities for implementing REDD+. Land. 2020;9(6):1–15.
 Available:https://doi.org/10.3390/LAND906 0186
- 17. Varelas S, Apostolopoulos N. The implementation of strategic management in greek hospitality businesses in times of crisis. Sustainability (Switzerland). 2020; 12(17).
 - Available:https://doi.org/10.3390/su121772
- Tkachuk IH, Melnychuk YM, Tkachuk DY, Kyryliuk IM, Solodzhuk TV. Economic Mechanism for Managing the Strategic Development of Territorial Communities. TEM Journal. 2020;9(4): 1606–1613.
 - Available:https://doi.org/10.18421/TEM94-36
- Hadrian P, Milichovský F, Mráček P. The concept of strategic control in marketing management in connection to measuring marketing performance. Sustainability (Switzerland). 2021;13(7):1–21.

Available:https://doi.org/10.3390/su13073887

20. Majeed S, Zhou Z, Lu C, Ramkissoon H. Online Tourism Information and Tourist Behavior: A Structural Equation Modeling

Analysis Based on a Self-Administered Survey. Frontiers in Psychology. 2020; 11:1–15.

Available:https://doi.org/10.3389/fpsyg.202 0.00599

© 2022 Ratnasari; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:
The peer review history for this paper can be accessed here:
https://www.sdiarticle5.com/review-history/85341